
TYPE – I (1-3-5-7 PATTERN) ( ��  இ� ெக� 1 ம�	
 � இ� ெக� ஒ� இர�ைட எ� ) 

1) � = �� − 8� + 16 
இ��, 
 = 1 , � = −8, � = 16 

� - ஆய	ெதாைல� =
��

��
=

�(��)

�(�)
=

�

�
= 4 

� - ஆய	ெதாைல� = (4)� − 8(4) + 16 = 16 − 32 + 16 = 32 − 32 = 0 
∴ �ைன���ளி = (4, 0) 

� 0 1 2 3 4 5 6 7 8 

� 16 9 4 1 0 1 4 9 16 

 7 5 3 1  1 3 5 7 

2) � = �� + 2� + 5 
இ��, 
 = 1 , � = 2, � = 5 

� - ஆய	ெதாைல� =
��

��
=

��

�(�)
=

��

�
= −1 

� - ஆய	ெதாைல� = (−1)� + 2(−1) + 5 = 1 − 2 + 5 = 6 − 2 = 4 
∴ �ைன���ளி = (−1, 4) 

� −5 −4 −3 −2 −1 0 1 2 3 

� 20 13 8 5 4 5 8 13 20 

 7 5 3 1  1 3 5 7 

3) � = �� + 4� + 3 
இ��, 
 = 1 , � = 4, � = 3 

� - ஆய	ெதாைல� =
��

��
=

� 

�(�)
=

� 

�
= −2 

� - ஆய	ெதாைல� = (−2)� + 4(−2) + 3 = 4 − 8 + 3 = 7 − 8 = −1 
∴ �ைன���ளி = (−2, −1) 

� −6 −5 −4 −3 −2 −1 0 1 2 

� 15 8 3 0 −1 0 3 8 15 

 7 5 3 1  1 3 5 7 

4) � = �� − 4� + 3 
இ��, 
 = 1 , � = −4, � = 3 

� - ஆய	ெதாைல� =
��

��
=

�(� )

�(�)
=

 

�
= 2 

� - ஆய	ெதாைல� = (2)� − 4(2) + 3 = 4 − 8 + 3 = 7 − 8 = −1 
∴ �ைன���ளி = (2, −1) 

� −2 −1 0 1 2 3 4 5 6 

� 15 8 3 0 −1 0 3 8 15 

 7 5 3 1  1 3 5 7 

5) � = �� − 4� + 4 
இ��, 
 = 1 , � = −4, � = 4 

� - ஆய	ெதாைல� =
��

��
=

�(� )

�(�)
=

 

�
= 2 

� - ஆய	ெதாைல� = (2)� − 4(2) + 4 = 4 − 8 + 4 = 8 − 8 = 0 
∴ �ைன���ளி = (2, 0) 

� −2 −1 0 1 2 3 4 5 6 

� 16 9 4 1 0 1 4 9 16 

 7 5 3 1  1 3 5 7 
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6) � = �� − 6� + 9 

இ��, 
 = 1 , � = −6, � = 9 

� - ஆய	ெதாைல� =
��

��
=

�(�!)

�(�)
=

!

�
= 3 

� - ஆய	ெதாைல� = (3)� − 6(3) + 9 = 9 − 18 + 9 = 18 − 18 = 0 
∴ �ைன���ளி = (3, 0) 

� 1 0 1 2 3 4 5 6 7 

� 16 9 4 1 0 1 4 9 16 

 7 5 3 1  1 3 5 7 

7) � = (� − 1)(� + 3) = �� + 2� − 3 
இ��, 
 = 1 , � = 2, � = −3 

� - ஆய	ெதாைல� =
��

��
=

��

�(�)
=

��

�
= −1 

� - ஆய	ெதாைல� = (−1)� + 2(−1) − 3 = 1 − 2 − 3 = 1 − 5 = −4 
∴ �ைன���ளி = (−1, −4) 

� −5 −4 −3 −2 −1 0 1 2 3 

� 12 5 0 −3 −4 −3 0 5 12 

 7 5 3 1  1 3 5 7 

8) � = �� − 4 
இ��, 
 = 1 , � = 0, � = −4 

� - ஆய	ெதாைல� =
��

��
=

�"

�(�)
= 0 

� - ஆய	ெதாைல� = (0)2 − 4 = −4 
∴ �ைன���ளி = (0, −4) 

� −4 −3 −2 −1 0 1 2 3 4 

� 12 5 0 −3 −4 −3 0 5 12 

 7 5 3 1  1 3 5 7 

 

9) � = �� − 9 
இ��, 
 = 1 , � = 0, � = −9 

� - ஆய	ெதாைல� =
��

��
=

�"

�(�)
= 0 

� - ஆய	ெதாைல� = (0)2 − 9 = −9 
∴ �ைன���ளி = (0, −9) 

� −4 −3 −2 −1 0 1 2 3 4 

� 7 0 −5 −8 −9 −8 −5 0 7 

 7 5 3 1  1 3 5 7 

10) � = 2�� 

இ��, 
 = 2 , � = 0, � = 0 

� - ஆய	ெதாைல� =
��

��
=

�"

�(�)
= 0 

� - ஆய	ெதாைல� = 0 
∴ �ைன���ளி = (0, 0) 

� −5 −4 −3 −2 0 0 1 2 3 

� 32 18 8 2 0 2 8 18 32 

 14 10 6 2  2 6 10 14 
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TYPE – II (2-4-6-8 PATTERN) ( ��  இ� ெக� 1 ம�	
 � இ� ெக� ஒ� ஒ�ைற எ� ) 

1) � = �� + � − 12 
இ��, 
 = 1 , � = 1 , � = −12 

� - ஆய	ெதாைல� =
��

��
=

��

�(�)
=

��

�
= −0.5 

அ�ைம � - ஆய	ெதாைல�க� :  −1 ம��� 0 

� = −1  எனி ,  � = (−1)� + (−1) − 12 = 1 − 1 − 12 = −12 
� = 0  எனி ,  � = (0)� + 0 − 12 = −12 
��ளிக� : (−1, −12), (0, −12) 

� −4 −3 −2 −1 0 1 2 3 4 

� 0 −6 −10 −12 −12 −10 −6 0 8 

 6 4 2   2 4 6 8 
2) � = �� − 9� + 20 

இ��, 
 = 1 , � = −9 , � = 20 

� - ஆய	ெதாைல� =
��

��
=

�(�$)

�(�)
=

$

�
= 4.5 

அ�ைம � - ஆய	ெதாைல�க� :  4 ம��� 5 

� = 4  எனி ,  � = (4)� − 9(4) + 20 = 16 − 36 + 20 = 36 − 36 = 0 
� = 5  எனி ,  � = (5)� − 9(5) + 20 = 25 − 45 + 20 = 45 − 45 = 0 
��ளிக� : (4, 0), (5, 0) 

� 1 2 3 4 5 6 7 8 9 

� 12 6 2 0 0 2 6 12 20 

 6 4 2   2 4 6 8 
3) � = �� + � + 7 

இ��, 
 = 1 , � = 1 , � = 7 

� - ஆய	ெதாைல� =
��

��
=

�(�)

�(�)
=

��

�
= −0.5 

அ�ைம � - ஆய	ெதாைல�க� :  −1 ம��� 0 

� = −1  எனி ,  � = (−1)� + (−1) + 7 = 1 − 1 + 7 = 7 
� = 0  எனி ,  � = (0)� + 0 + 7 = 7 
��ளிக� : (−1, 7), (0, 7) 

� −4 −3 −2 −1 0 1 2 3 4 

� 19 13 9 7 7 9 13 19 21 

 6 4 2   2 4 6 8 
4) � = �� − 5� − 6 

இ��, 
 = 1 , � = −5 , � = −6 

� - ஆய	ெதாைல� =
��

��
=

�(�%)

�(�)
=

%

�
= 2.5 

அ�ைம � - ஆய	ெதாைல�க� :  2 ம��� 3 

� = 2  எனி ,  � = (2)� − 5(2) − 6 = 4 − 10 − 6 = 4 − 16 = −12 
� = 3  எனி ,  � = (3)� − 5(3) − 6 = 9 − 15 − 6 = 9 − 21 = −12 
��ளிக� : (−1, 7), (0, 7) 

� −2 −1 0 1 2 3 4 5 6 7 

� 8 0 −6 −10 −12 −12 −10 −6 0 8 

 8 6 4 2   2 4 6 8 
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5) � = �� + � − 2 
இ��, 
 = 1 , � = 5 , � = −2 

� - ஆய	ெதாைல� =
��

��
=

��

�(�)
=

��

�
= −0.5 

அ�ைம � - ஆய	ெதாைல�க� :  −1 ம��� 0 

� = −1  எனி ,  � = (−1)� + (−1) − 2 = 1 − 1 − 2 = −2 
� = 0  எனி ,  � = (0)� + 0 − 2 = −2 
��ளிக� : (−1, −2), (0, −2) 

� −5 −4 −3 −2 −1 0 1 2 3 4 

� 18 10 4 0 −2 −2 0 4 10 18 

 8 6 4 2   2 4 6 8 
6) � = �� + 3� − 4 

இ��, 
 = 1 , � = 3 , � = −4 

� - ஆய	ெதாைல� =
��

��
=

�&

�(�)
=

�&

�
= −1.5 

அ�ைம � - ஆய	ெதாைல�க� :  −2 ம��� −1 

� = −2  எனி ,  � = (−2)� + 3(−2) − 4 = 4 − 6 − 4 = 4 − 10 = −6 
� = −1  எனி ,  � = (−1)� + 3(−1) − 4 = 1 − 3 − 4 = 1 − 7 = −6 
��ளிக� : (−2, −6), (−1, −6) 

� −6 −5 −4 −3 −2 −1 0 1 2 3 

� 14 6 0 −4 −6 −6 −4 0 6 14 

 8 6 4 2   2 4 6 8 
7) � = �� + 3� + 2 

இ��, 
 = 1 , � = 3 , � = 2 

� - ஆய	ெதாைல� =
��

��
=

�&

�(�)
=

�&

�
= −1.5 

அ�ைம � - ஆய	ெதாைல�க� :  −2 ம��� −1 

� = −2  எனி ,  � = (−2)� + 3(−2) + 2 = 4 − 6 + 2 = 6 − 6 = 0 
� = −1  எனி ,  � = (−1)� + 3(−1) + 2 = 1 − 3 + 2 = 3 − 3 = 0 
��ளிக� : (−2, 0), (−1, 0) 

� −6 −5 −4 −3 −2 −1 0 1 2 3 

� 20 12 6 2 0 0 2 6 12 20 

 8 6 4 2   2 4 6 8 
8) � = �� + � 

இ��, 
 = 1 , � = 1 , � = 0 

� - ஆய	ெதாைல� =
��

��
=

��

�(�)
=

��

�
= −0.5 

அ�ைம � - ஆய	ெதாைல�க� :  −1 ம��� 0 

� = −1  எனி ,  � = (−1)� + (−1) = 1 − 1 = 0 
� = 0  எனி ,  � = (0)� + 0 = 0 
��ளிக� : (−1, 0), (0, 0) 

� −5 −4 −3 −2 −1 0 1 2 3 4 

� 20 12 6 2 0 0 2 6 12 20 

 8 6 4 2   2 4 6 8 
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TYPE – III (1-3-5-7-9 PATTERN) ( ��  இ� ெக� 2) 

1) � = (2� − 3)(� + 2) = 2�� + � − 6 
இ��, 
 = 2 , � = 1 , � = −6 

� - ஆய	ெதாைல� =
��

��
=

��

�(�)
=

��

 
= −0.25 

அ�ைம � - ஆய	ெதாைல� = 0 

� = 0  எனி ,  � = 2(0)� + 0 − 6 = −6 
��ளி :  (0, −6) 

� −4 −3 −2 −1 0 1 2 3 4 

� 22 9 0 −5 −6 −3 4 15 30 

 13 9 5 1  3 7 11 15 

 

2) � = 2�� − 3� − 5 
இ��, 
 = 2 , � = −3 , � = −5 

� - ஆய	ெதாைல� =
��

��
=

�(�&)

�(�)
=

&

 
= 0.75 

அ�ைம � - ஆய	ெதாைல� = 1 

� = 1  எனி ,  � = 2(1)� − 3(1) − 5 = 2 − 3 − 5 = 2 − 8 = −6 
��ளி :  (1, −6) 

� −3 −2 −1 0 1 2 3 4 5 

� 22 9 0 −5 −6 −3 4 15 30 

 13 9 5 1  3 7 11 15 

 

 

  

 

www.kalvikural.com


